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SUMMATIVE ASSESSMENT - I (2011) 

Lakdfyr ijh{kk&I (2011)  
 

SCIENCE / foKku  

Class – X / & X 

 

 
 

Time allowed : 3 hours  Maximum Marks : 80 
fu/kkZfjr le; % 3 ?k.Vs vf/kdre vad % 80 

 

General Instructions : 
i). The question paper comprises of two sections, A and B.  You are to attempt both the sections. 
ii). All questions are compulsory. 
iii). There is no overall choice.  However, internal choice has been provided in all the  five questions of 

five marks category.  Only one option in such questions is to be attempted. 
iv). All questions to section A and all questions of section B are to be attempted separately. 
v). Questions 1 to 4 in section A are one mark questions.  These are to be answered in one word or 

one sentence. 
vi). Questions 5 to 13 in section A are two marks questions.  These are to be answered in about 30 

words each. 
vii). Questions  14 to 22 in section A are three marks questions.  These are to be answered in about 50 

words each. 
viii). Questions 23 to 25 in section A are five marks questions.  These are to be answered in about 70 

words each. 
ix).  Questions 26 to 41 in section B are multiple choice questions based on practical skills.  Each 

question is a one mark question.  You are to select one most appropriate response out of the four 
provided to you. 

 
lkekU; funsZ”k % 

(i) bl iz”u i= dks nks Hkkxksa, Hkkx v vkSj Hkkx c esa ckaVk x;k gSA vkidks nksuksa Hkkxksa ds iz”uksa ds mRrj fy[kus gSaA 

(ii) lHkh iz”u vfuok;Z gSaA 

(iii) iwjs iz”u i= ij dksbZ p;u izkIr ugha gS ijUrq ikap&ikap vadks ds ikWap iz”uksa esa Hkhrjh p;u fn;k x;k gSA bu iz”uksa esa 

vki dsoy ,d Hkhrjh p;u dks mRrj fy[kus ds fy, pqu ldrs gSaA 

(iv) vkidks Hkkx v vkSj Hkkx c ds lHkh iz”uksa ds mRrj i`Fkd&i`Fkd fy[kus gksaxsA 

(v) Hkkx v ds iz”u la[;k 1 ls 4 ds iz”u ,d&,d vad ds gSaaA buds mRrj ,d “kCn vFkok ,d okD; esa nsaA 

(vi) Hkkx v ds iz”u la[;k 5 ls 13 ds iz”u nks&nks vadksa ds gSaA buds mRrj yxHkx 30&30 “kCnksa esa nsus gSaA 

(vii) Hkkx v ds iz”u la[;k 14 ls 22 ds iz”u rhu&rhu vadksa ds gSaA buds mRrj yxHkx 50&50 “kCnksa esa nsus gSaA 

(viii) Hkkx v ds iz”u la[;k 23 ls 25 ds iz”u ikap&ikap vadksa ds gSaA buds mRrj yxHkx 70 “kCnksa esa nsus gSaA 
(ix) Hkkx c ds iz”u la[;k 26 ls 41 ds iz”u iz;ksxkRed dkS”ky ij vk/kkfjr cgqfodYih iz”u gSaA izR;sd iz”u ,d vad dk 

gSA fn, x;s pkj fodYiksa esa ls vkidks dsoy ,d lcls mi;qDr fodYi pquuk gSA 
 

 
 SECTION-A / ' ' 
  

1. Which one is a chemical change- rusting of iron or melting of iron ? 

570011 
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2. Why do silver articles become black after some time when exposed to air ? 

 

  
3. Suggest any two reasons which make the large scale usage of nuclear energy prohibitive. 

 

  
4. Mention any two factors on which the resistance of a cylindrical conductor depend. 

 

  
5. Give reason : 

(i) Ionic compounds have high melting point 

(ii) Ionic compounds are hard crystalline solids. 

 

(i)  

(ii)  

  
6. Write the chemical formula of baking soda.  How is baking soda prepared ? Write the 

reaction which takes place when it is heated during cooking. 

 

  
7. (a) If an iron nail is immersed in the aqueous solution of copper sulphate, what are 

the changes happening to the nail and to the solution? 

(b) Write the balanced chemical equation for the reaction between iron metal and aqueous 

 copper sulphate solution. 

(a)

(b)
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8. Give an example each for thermal decomposition and photo chemical decomposition 

reactions.  Write relevant balanced chemical equations also. 

 

  
9. What are the final products of carbohydrates, proteins and fats after their digestion. 

 

  
10. A student constructed a model of box type solar cooker.  Instead of using glass sheet he used 

a transparent plastic sheet to cover the open face of the box.  He found that this cooker does 

not function well.  What could be the possible drawbacks in  his model ?  Explain the 

advantage of painting black the inner and outer surfaces of the cooker and that of cooking 

vessels. 

 

 

  
11. Calculate the electrical energy consumed by a 1200W toaster in 20 minutes. 

1200W 20  

  
12. Why does a current carrying conductor experiences a force when it is placed in a magnetic 

field ?  State Fleming’s left hand rule. 

 

  
13. Why do the wires connecting an electric heater to the mains not glow while its heating 

element does ? 

 

  
14. 

(a) Oil and fat containing food items are flushed with nitrogen while packing them why ? 

(b) Why do we apply paint on iron articles ? 
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(a)  

(b)  

  
15. What are strong acids and weak acids ?  Give an example for each. 

 

  
16. (a) A white powder is an active ingredient of antacids and is used in preparation of cakes.  

Name the compound and state how it is manufactured ?  Give chemical equation. 

(b) Write an equation to show the effect of heat on this compound. 

(a) 

 

(b)  

  
17. Draw a lebelled diagram of a neuron.  List its functions 

 

  
18. What is endocrine gland ?  Name any two endocrine glands present in a human body 

and write hormones secreted by them. 

 

  
19. 

(a)  What is geothermal energy ?  

(b) What are the advantages of wind energy. 

(a) 

(b)  

  
20. (a) Why do copper or aluminium wires generally used for electrical transmission and 

distribution purposes ? 

(b) Two wires, one of copper and other of manganin, have equal lengths and equal 

resistances.  Which wire is thicker ?  Given that resistivity of copper is lower than that 

of manganin. 

(a) 
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(b) 

 

  
21. Resistance of a metal wire of length 1m is 26at 20C.  If the diameter of the wire is 0.3mm, 

what will be the resistivity of the metal at that temperature ? 

20C  1 m  26  0.3 mm 

 

  
22. (i)      What precautions should be taken to avoid the overloading of domestic electric  

           circuits ? 
(ii) An electric oven of 2 kW power rating is operated in a domestic electric circuit that 
 has a current rating of 5A.  If the supply voltage is 220V, what result do you expect ?      
 Explain. 

(i)  

(ii) 2 kW 220V 

5A  

  
23. Answer the following : 

(a) How do we find whether a given element is a non metal, if we know its electronic 

configuration ?  

(b) With the help of a reaction show that zinc is more reactive than iron. 

(c) In nature aluminium is found in combined state whereas silver is found in free state.  

Give reason. 

(d) Why should we not throw small pieces of sodium into a sink in the laboratory ? 

(e) Name any two amphoteric oxides. 

 

(a)  

(b)  

(c) 

 

(d)  
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(e)  

 OR 
 (a) A student took sulphur powder on a spatula and heated it.  Then he collected the gas 

evolved by inverting a test tube over it as shown in the figure.  Write a balanced 

chemical equation for the reaction taking place.   

  What will be the action of this gas on : 

(i) dry litmus paper and 

(ii) moist litmus paper. 

(b) What is thermit reaction ?  Mention its application. 

  

(a) 

 

(i)  

(ii)  

(b) 
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24. (a) Name the enzyme present in saliva.  Why is it important ? 

(b) What is emulsification ? 

(c) Name the substance that is oxidized in the body during respiration. 

(d) Why are lungs divided into very small sac-like structures ? 

(a)  

(b)  

(c)  

(d)       

 OR 
 (a) Draw a neat diagram of human excretory system and label the parts that : 

 (i) produces urine 

 (ii) releases urine to outside 

(b) What are the end products of digestion of fat and protein in human beings ? 

(a)  

 (i)  

 (ii)  

(b)  

  
 

25. Briefly explain an activity to plot the magnetic field lines around a bar magnet. Sketch 

the field pattern for the same specifying field directions. A region ‘A’ has magnetic field 

lines relatively closer than another region ‘B’. Which region has stronger magnetic 
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field?  Give reason to support your answer. 

A 

B 

 

 OR 
 

Briefly explain an activity to plot the magnetic field lines around a straight current 

carrying conductor. Sketch the field pattern for the same, specifying current and field 

directions.  

What happens to this field,  

 (i) if the strength of the current is decreased ?  

 (iii) if the direction of the current is reversed ? 

(i) 

(ii)  

  
 

SECTION –B / ' ' 
  
 

26. A student tested the pH of distilled water using pH paper and observed green colour.  

After adding a few drops of dilute NaOH solution, the pH was tested again. The colour 

change now observed would be : 

 (a) blue    (b) green    (c)  red    (d)  orange 

pH pH

NaOH pH

(a) (b) (c) (d)  

  
 

27. 
Four solutions I, II III and IV were given to a student to test their acidic or basic nature  

by using pH papers.  He observed that the colour of pH paper turned to red, blue, 

green and orange respectively when dipped in four solutions. The correct conclusion  

made by the student  would be  

 (a) I, II and III are acidic.  
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 (b) I and IV are acidic.  

 (c) II, III, and IV are acidic.  

      (d) II and IV are acidic.  

I, II III IV pH 

pH 

(a) I, II III (b) I IV

(c) II, III IV (d) II IV  

  
28. A metal powder was added to dil. HCl and dil. NaOH solutions taken in separate test 

tubes.  On mixing the contents react in both the test tubes.  Hydrogen gas was formed 

in both the cases.  The metal used will be : 

(a) Cu   (b) Zn   (c) Fe   (d) Pb 

HCl NaOH

(a) Cu  (b) Zn   (c) Fe   (d) Pb 

  
29. When an iron nail rubbed with sand paper is dipped in copper sulphate solution, we observe 

that copper gets deposited  

 (a) first on the lower part of the nail and proceeds to the upper part. 

 (b) first on the upper part of the nail and proceeds to the lower part.  

 (c) on the entire surface of  the nail. 

 (d) on the nail in small patches. 

 

 (a)  

 (b)  

 (c)  

        (d)        
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30. Rahul adds aqueous solution of barium chloride to an aqueous solution of sodium sulphate. 

He would observe that  

 (a) a pungent smelling gas is evolved. 

 (b) the colour of the solution turns red. 

 (c) a yellow precipitate is formed after sometime. 

 (d) a white precipitate is formed almost immediately. 

 

 (a)  

 (b)  

 (c)  

           (d)      

  
31. While performing  the experiment on studying the dependence of current (I) on the potential 

difference (V) across a resistor,  four students I, II, III and IV set up the circuits as shown : 

 

The correct result will be obtained by student : 

                 (a) I  (b) II  (c) III  (d) IV 
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 (I) (V) 

I, II, III  IV 

 

 

 (a) I  (b) II  (c) III  (d) IV 
  

32. The figures given below show the readings of a milliammeter and a voltmeter connected in 

an electric circuit.  Assuming that the instruments do not have any zero error, the current 

flowing through the circuit and the potential difference across the conductor respectively are 

                               

          (a) 160 mA and 1.1 V   (b) 130 mA and 1.2 V 

 (c) 130 mA and 1.1 V   (d) 130 mA and 1.5 V 
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                     (a) 160 mA  ;  1.1 V    (b) 130 mA ; 1.2 V 

                     (c)      130 mA ; 1.1 V    (d) 130 mA ; 1.5 V  
  

33. An ammeter can read current upto 5A and it has 20 divisions between mark 0 and mark 2 on 

its scale.  The least count of the ammeter is : 

 (a) 0.02 A (b) 0.01 A (c) 0.2    A (d) 0.1    A 

5A 0 2  20 

 

          (a) 0.02 A (b) 0.01 A (c) 0.2    A (d) 0.1    A 
  

34. Which of the circuit components in the adjoining circuit diagram are connected in  parallel? 

 

(a) R1 and R2 only    (b) R2 and V only 

(c) R1 and V only    (d) R1, R2 and V 

(a) R1  R2     (b) R2  V  

(c) R1  V          (d) R1, R2  V 
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35. 

 

The resistors R1 and R2 are connected in : 

(a) parallel in both circuits. 

(b) series in both circuits. 

(c) parallel in circuit I and in series in circuit II. 

(d) series in circuit I and in parallel in circuit II. 

 

R1  R2 

 (a)

 (b)

(c) I II

(d) I II  

  
36. In an experiment to show that sunlight is necessary for photosynthesis, the leaf is boiled in 

alcohol for a few minutes using a water-bath.  It is essential to use water-bath because : 

(a) alcohol is highly volatile. 

(b) steam from the water bath heats the leaf rapidly. 

(c) steam from the water bath dissolve the chlorophyll. 
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(d) alcohol is inflammable. 

  

(a)   

(b)  

(c) 

(d)  

  
37. Which one of the following is the combination of relevant materials required for setting up 

an experiment to show that light is necessary for photosynthesis ? 

(a) Destarched leaves, strips of black paper, starch solution and iodine crystals 

(b) A potted plant, strips of coloured paper, starch solution, iodine and potassium  

 iodide 

(c) Strips of black paper, starch solution, destarched leaves and potassium iodide 

(d) Strips of black paper, destarched leaves and iodine solution 

 

(a)  

(b)  

(c)  

(d)  

  
38. Four students observed the epidermal peel of leaf under a high power microscope and made 

the sketches as below. 

 The correct sketch would be : 
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 (a) I  (b) II  (c) III  (d) IV 

 

(a) I  (b) II  (c) III  (d) IV 
  

39. A student was asked to prepare temporary mount of stomata from a leaf.  He should 

select  

 (a) Tip of the leaf    (b) Mid-rib of the leaf 

 (c)     Upper epidermis   (d) Lower epidermis

 

 (a)      (b)  

 (c)          (d)  

  
40. After performing the experiment to show that germinating seeds give out carbon dioxide 

during respiration, students drew the following labelled diagrams. 
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The correct labelled diagram is  

 (a) A   (b) B   (c) C   (d) D 

 

 (a)     A  (b)     B   (c) C (d) D 
  

41. 
Four sets of three precautions to be taken while setting up the experiment to show that CO2 is 

evolved during respiration are given below.  Find the correct set of precautions. 
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(a) Airtight setup, delivery tube dips in water in beaker, germinating seeds in flask 

(b) Thread holding KOH pellets, airtight flask, delivery tube just above the water level in 

the beaker 

(c)      Germinated seeds completely under the water in the flask, experimental setup not 
airtight, delivery tube above water level. 

 (d )    Delivery tube touching the bottom of the beaker, KOH pellets kept along with 
germinating seeds at the bottom of the flask, seeds should not germinate. 

 CO2 

 

(a)  

(b) KOH  

(c)    

 

(d)   KOH 

 

 
 
 
 
 
 
    


